
1

INSTRUCTION
MANUAL

#R100021
R102017   3X5.5X3mm Alu Shims(4pcs)
R102020   3x6x0.5mm Alu Shims(8pcs)
R103050   3x5x0.3mm Shims (10)
R105103   3x4 Round Screw (10)
R105104   3x6 Round Screw (10)
R105107   3x12 Round Screw (10)
R105203   3x6mm Flat Screw (10)
R105204   3x8mm Flat Screw (10)
R105206   3x12mm Flat Screw (10)
R106001   3x6x2.5mm Ball Bearing (2)
R106002   5x8x2.5mm Ball Bearing /Metal Seal (4) 
R111071   20T Center Pulley-MID (2)

R112500   Pulley Adaptor Long-MID
R112501   Pulley Adaptor Short-MID
R112502   Motor Bulkhead Mount Plate-MID
R112503   Motor Bulkhead -MID
R113032   Spur Shaft -MID
R114022   S3M-351-3mm Belt
R115001   3mm Nylon Nut-Black Alu (4)
R118302   R11 MID Upper Deck
R118303   R11 MID Chassis Flex Plate
R118304   R11 MID Upper Deck Flex Plate
R118305   R11 MID Main Chassis 2.0mm
R112108   R11 MID Aluminum Chassis 2.0mm (Option Parts)

NOTICE
R106002 5x8x2.5 ball bearing only 
2pcs included inside R11 MID kit.

R106002

R118304

R105103

R118303

R115001

R102017

R115001

R115001

R105204

R105107

R106001

R111071

R112500

R112501

R111071

R106002

Spur Not Included

R105104

R114022

R118305

R118302

R103050

R113032

R112503

R105204

R112502
R102020

R105104

R105203

R105203
R105206

R105103

R114022

1:1 Scale

R102017
3x5.5x3mm Alu Shims (4)

R102020
3x6x0.5mm Alu Shims (8)

R103050
3x5x0.3mm Shims (10)

R105104
3x6 Round Screw (10)

R105103
3x4 Round Screw (10)

R105107
3x12 Round Screw (10)

R105203
3x6mm Flat Screw (10)

R105204
3x8mm Flat Screw (10)

R105206
3x12mm Flat Screw (10)

R106002
5x8x2.5mm Ball Bearing 
/Metal Seal (4)

R106001
3x6x2.5mm Ball Bearing (2)



INSTRUCTION
MANUAL

2

NOTICE

Default setup of R11 MID upper deck.

Reverse upper deck of R11 MID, more 
flex in front side for more  steering.

Chassis flex can be adjusted with the 
chassis flex plate R118303 via four screws. 
Installing more screws will reduce chassis 
flex and increase response in the rear end.

The upper deck for the R11 MID can be mounted in two different ways. The default setup has less flex at the front, 
making the R11 MID easier to drive. Reversing the upper deck will create more flex in the front end to provide the car 
with more steering. The X-shaped upper deck flex plate can be installed in different locations to enable you to fine tune 
the flex response according to track conditions.

Only R11 2018 & R11 2019 able to convert into R11 MID


